UGC 06335

arcsec
arcsec

-40 -20 0 20 40 -40 -20 0 20 40
arcsec arcsec

0.20 - T | T T T T T ]
0.30 - | h= 14" -
I | l
0.15 I : h= 18" |
0.25 - | h= 33" |
0.10 I ! |
|
i ' |
loos  0.20- o .
O A : |
(4] uWE - [
S "0 40 015" |
© |
11-0.05 i : i
0.10 - : .
-0.10 I :
0.05 ]
-0.15 : 1
-0.20 0.00 |
0 2 4 6 8
Radius (arcsec)
0.30¢ i X z 80[ ]
0.25+ ! 4 == 3 — i ! 1
0.20 -  foar N EE © 0L - . .
r | ] L |
< 0.15; : E = 40 .
0.10- : E g -, ]
0.05 - | ] = :
0.00 & . 0L ! ‘ ‘ ‘ ‘ ]
0 10 20 30 40 50
Radius (arcsec)
. 100: ; ‘+‘ ] Q.. AJ¥ L.
2 - | 1 Fop - --- Fao & -e-
o) L + i Qb A2
© 50~ | ' E Qpeoeer - A(rp.) : 0.09
8 L | rbar i phalo-corr . Amax -
© 0 ; | b Qb . 4 e
= - | ] Quarony - . VIR o 57.1% 28 kmis
é C - n | ] rearony -, Meowm © 38.25, 15 arcsec
= 0 ; ; @ Vagum(Rop) : 5667 92 ks
100" | | - | E (rear-onlyyhalo-corr . drVseum(0) © 54.77 5% km/s/kpc
0 5 4 6 8 10 Qq(rpa) : 0.097 33 M/M.(<R,,) : 0.06
Rad|us (arcsec) Qq_alo—corr(rbar) . 0.09 a: 9.0 kpC
e: 0.27 V_: 15.7 km/s
* ’ 0.30 - I .
G : ]
i — Q_r|1_alo-corr : |
0.25 ] |
| . Q_t|>_ar only : :
7 _ Q_kl)_ar-only&halo-corr : |
0.20 - : .
I ! |
) i ! |
E d_ i : rbar |
= 0.15 - !
> - : i
l |
[ I -
0.10 - : .
I I |
i I |
0.05 - : .
i I |
0 \\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘ 0-007 ‘ ‘ \:\ ‘ ]
0 10 20 30 40 50 0 2 4 6 8

Radius (arcsec) Radius (arcsec)



